4 rnacc

Sanuiiil yucia

ABTOp:

bepntota Onbra AnexkcaHapoBHa
yunuTesnb Ha4yanbHbIX Kaccos
MOY COLLl Ne32
r.Komcomonbcka-Ha-Amype,
Xabaposckoro kpas




2 MUINJIMOHA
4 TbICAUYN
12 eANHUNLU




3 Ooec.TbicsAY
5 pec. eaHUL




6 coTeH
MWUNJIVOHOB

16 TbiICAM
6 COTeH eanHuULU




OMNponsseneHune 200 n 6
OdYacTtHoe 2700 n 30
[IBo cKkonbko pa3
10 000 > 100




Yepe3 CKONbKO YacoB
BCTPETATCA ABe aKynbl,
€CJiu OHU NpPOoNNbINU
150 KM HaBcCTpeuy Opyr
Apyry- ogHa co
ckopocTbio 20 KM/Y, a
apyras 30 K/?

4

/‘
VAR WA




Ha CKOrMbKO M OAVUH
Marb4yuK NPOOEeXuT
bonblie, yem gpyrou 3a 1
MWUHYTY, €CNI1 CKOpPOCTb
nepBoro 80 M/MuH., a
BTOpPOro 67 m/MunH.?

N — P



Exxuk 6exan g0 HOPKM

2 yaca co CKOpPOCTbHO
12 KM/4, a NOTOM eLe

30 km. CKonbKoO BCero
KM npooexan exuk?




[lpoBepb cebsA!

2 004 012
30 050

600 016 600







150: (20 +30) =3 (4)

80 — 67 =13 (M/MUH)

2 * 12 + 30 = 54 (kM)




